


27. fawa 2024 % foru fbm 2w € a7
| wEtt, 2024 Ay M MER 2
(A) W (B) &9
(C) wmsfter (D) &=
Which country's chairmanship has |
;mﬁ'ﬂ' from January 1%, 2024 for BRICS 2
‘i (A) India (B) Russia
(D) foradago (C) Brazil (D) Tran

Prime Minister had '
to overcome the challenge of 128, = 2016 # Frzadt # = rBI (v

slow m&:pwd in hwwmfep by frordl #%) % TR 4 9
| . Fi (A& Tm T (B) = ffa g2

ber
| _Project _ which  was (C) #t wfdia g (D) =7, 9. g
%"ﬁ%h 020, D% | Who was the RBI (Reserve Ban

cpendence




18.

19.

(D) ardt 3t Tden ek
In Uttar Pradesh, the festival of "Kum .
Mela” is celebrated at the confluence ©
which rivers ? :
(A) Ganga, Yamuna and mythical SamSV_ﬂ‘llll
(B) Kaveri, Sarayu and mythica
Saraswati
(C) Narmada and Brahmaputra

(D) Tapi and Narmada

T vy faety fm ) Frfafed
# @ fous Rem & farefta @l
R w0 3 weeye yyftven P 8 2

(A) S (B) TR da

(C) e

of which of the follo\
(A) Agriculture '
(C) Education

(©) ¥ y D) |
poe Dudiwa National Park of Uttar

e —
(C) Meoru " " 5 Erayeura

m"m“‘mﬁmmﬂnw

(D)- A g e

Give full form ofN[A.

(A) National ]nCUbHI.IOI'l Agency
(B) Naval Investigation Agency
(C) New Investigation Agency
(D) National Investigation Agency

22. ToRIgeI-gaTE Hed &3 8 ST T 5
free % fog W@ 7@ 9F from
sitater &1 AW FrefafEa g g s a2

(A) HTTEH 375

Pthe following is the name of
gpation launched by the India ©
[dian national from Israe

(B) Operation Ganga
(€) Operation Vijay
(D) Operation Hot Pursuit

8T B H SrRER 2023 §, W
TS ¥ X i s e T
m(EPCA)ﬁmﬁ;{g@g:ﬁ?'
(A) wrerdg ). wisw

(C) g (D) e
Rﬁﬂemly in October 2023, Ind?
:Vel-li"chl I'“M‘bouﬂn' g country

Economi Negotiations ©'
gperatlt
A ¢ and Technolog}‘ Coof

(ETCA) 2

(B) Myanmaf

i Lankd
MM"‘.\MHM . {D) Sr] I ! a




,.

Prferfin # & ®)3 s vdw o d wats (13, sEEfes g % fere afet, Fer 3n

e w7 g s 0

wer I Prefefias 4 & fea am & 9
wren & 7

(A) Aftwe (B) forefrmesn

(©) Frfrwean (D). Aiffmear
Growing vegetables, flowers and fruits
for commercial use is known as which of
the following 7

(A) Sericulture  (B) Pisciculture

(C) Viticulture (D) Horticulture

§ @ 9Ra & fem deome =
T & 993 oft 5w 2 o
(B) ®if







TG R ?
(A) T - T (B) ST T -
(C)I‘-'I'E*—W (D) ffy -y

PR T DR —

W

(O)- T +7m

W 147, Freferfiaa i & e amm i s sns

(A) e o) szt st ot o s |
(B)- tito flgefr A @a e 2

(C) Tt geers gt B |

(D) 5t & eeres firdy |

i (A)‘ﬁ ('B) m

(©) = gl
W 376 e 77 3 e e
(A) F+am (B) T+ 7™
(D) &1+ 7]

oy







68, ‘Wgfeera Wl a avwd 2

(A) W
(€)@

69. gﬂﬂhﬂﬂﬂtﬁ*ﬂmmt?
(A) ¥ st g 3 R |
(B) g?;h s e R ) wee
|

(C) 3 3R Feeawa T R B Bl
SR wE R | e
@)rft § wow dew K S lE W |
TRUR AR | :

(B): W
(D) &

n. e Pl 33 5

(&) g

®
@) 2

78. a@Ht;15+213349-2+5)+2

77. w77 @ 4 @ fafea fem e @ AwEa
A

v o |
Find the remainder when 77 is divided "™ a

*

by 4. %*
A1 B2, ©3 )0 y
c3ns 3 -2 4.5‘331 75?26* }i-ﬂﬂ'
l
Simplify : 15+ 21 x (9-2+5)+2 3@*@5/1,
(A)15 (B)63 (C).78 (D)9l 33;}‘)
3

£ 31,004 — 4.98 + 07034 —, -

»2
498 + 07034 @
el ]




g3, Rk T 101 6 ¥ Wit IR X6
& 4 3% P @ A= R | 3w o a1 A

sftvers s 61 |
A vendor bought bananas at 6 for ¥ 10
and sold them at 4 for T 6. Find his gain

or loss percent.
(A)+10% &M/ gain (B) 10% Eif/loss

(C) 8% W™ /gain (D) 8% ¥/ loss
84. = o ot R, 12% wmame &S W3

H ¥ 2 1,260 %1 %9 san it ?
annual instalment will discharge a
° debt of T 1,260 due in 3 at 12% |
. simple interest ?
(A) T325 T3
(C) T425 75
85, WH I w5 =EEW §
s *
ST 1§
lﬂ!ﬁ.ﬁﬁﬁ 9
‘:;'m‘ isine
T 57,000. At the end AIHEN'c:, tne
wz‘: “‘a&"m s
W2 @4 ()
86. W3 #97 = = 3in
87.

89.

,s?%ﬂ'ﬁlﬁrzﬁﬂzi?

there between

9,12, 15, 18, ccou

How n;srllya terms sg}r;

?}\Jl % (B)26 '(C)d::: éz)izsm
aril % fmra 52 @t 3120 |

:]TT a1 i T HIFAY foremT %A 3

i e s e 35 3 s W R |

The ters of two squares arc 52 em

and 20 cm. Find the perimeter of a third

:?mmwkqﬂmﬂumm
the areas of these two squares.

(A) 28fem  (B)-36 Aft/em

T R | G Y

m e rate of 9 km/hr
Cr oA - .rhc

B (C) £

g s

b nd answer




92. wrd, et ok wé ¥ Frerst el 10 gro |96, wm A7 sit@ o A P F e qaw =5
¥ 0 ITe) ) Fe wEn H ], 329 g waw areft aow A wogen #
ma-&&fﬁ maﬁg;z:ﬁm &ﬂ@;ﬁzgﬂ , S o
JOVSL L I T e plains the relationship among given
e e foverdt o 2 Bovs, e A i
Out of the total number of products sold b
by company ‘T in March, April and (A) (B)®
May together, 32% were made of mild -
steel. What was the total number of mild |
steel products sold by company ‘T’ in [or
March, April and May togetycr '

(A) 144 (B) 15
€)-155 (D) 16
waEt S P, S I
g i e wsn R 7

_sold by company ‘P', 'S’




101, & 1 W w EE & T e e |

Py @l X i &9 & 7@ A R
M ?
Which one set of letters when
sequentially placed at the gaps In the
given letter series shall complete it ?
M.-NO? MNNs Pu NOg PMy OP7

4o (A) MPMOONP  (B) MPONONM

(C)MPOMONP (D) MPMONOP

102. R e fywedt # @ w8 @ fwer o S
S 1 HAT |

Choose the correct
ones that will comp
§:13.5:9%24.3, 3
(Ay35.5 (B)37.50

D) St : i

1 i I!.btlu\'»,ﬂ.pﬂifﬂf“l’bl‘dﬁ'
given, followed by four pairs of words ;:
altematives. You are required to choose

the pair in
same re.
Apostate : Religion
(A) Potentate : Kingdom
(B) Teacher : Education
(C)'Tﬂitm‘:(k.mu-y
(D) Jailor ; Law

104. THEDE : Vitieg . RS e #

< A )

(A) COWTP (B) Cpwsp

ot s g

which the words ‘bear the

I-X qu = 'HT' 10 Rt Ied1 2,
e i el & 3w 6 fepeht =reTen 3 Ryt erd

106, U S =7

Zhme?
(A) 16 fet (B)- 6 faft
(C) 25 feeeft (D) 12 feedt

A person moves from home position
towards east bg 10 km, then turns right
and moves bgr km, again turns right and
moves by 15 km, again turns right and
moves by 6 km, then turns left and
moves by | gl How far the person is
from home on?

o1 ¢ e ®9 & gron
g i 79 7w |

Iﬁ &fwﬁﬁwmmwmh
3 d H I m

e % fon et R | -
(A) HEE SR L e R |
(B)-haret wmeom 11 iafifka @ |

(€) a1 1 mfifRa |
(D);zhlmzwﬁuaiaﬁ&n;

In .
fchllow%d ‘Lmtm“ below, a statement

1 and 11 is ‘siven. You have. 1o o ocisd
the statement

assumption is implicit in

s“‘:ﬂ“m:.;()m not sleep under
night,

Mlmpﬂuu :

i falling leaves may spoil our

Only agsum §eptioit.

1.
)




108, 3 0 T e & v e it sk

—

L]

I, 00 3% 1V Fwifa an o e §

TH TR T TR oA w/R ak

by bbb b il
AHR W

forsret & & s I i

oW ol e e e

a ‘*mﬁﬁﬁﬂmﬁmmwﬂq?
L ;

T | SR w8 W ferl @
Ttz @ sfem w ot |

0. &) 7% = ®Wem )-frd i

WY S RS ZTRL 3791

Uz [ehd

W ®, 1097 113 ; freferfas e w1 e
S w5t i A Ry o g % I d
frart %) daer wlied & foro xvz &% 2o 7 10
Eﬁmmmﬁvﬂm!;

(a) % yra & w0 iy v oty #eft =i |

(b) & H & T § e &4 g v =R |

(c) | Taga, 2005 1 502 3 e 3 oo 7l e =i |

(d) 1 %% B S swewrn snga w001 ff # =fRn |

(e) mm%wmwwmﬁmw
|

a1 ot 35 w3 it i e el g e 8, e

L' 30 (a) 4, S 9t % v 7o

i uic i g




[0, Tir4 3t ST R T N T STH
e R | 34 T W wg g i
i g TR £ wfeds 3 a8 |
<7 W 4 e, 1955 W g A 1AW
5 3wt v o () TR
(A) it 7 e R e |
m»-mﬁ:tumimitimmi




13, SRS T & T wr vy i yfiy (114,
LR IR e W A sree v
fFn R | W W w e
() 7 & | w3t ot iy w2 vt
T § | 9% ¢ 6 o A e gl
TR TS E |

Wﬂhﬂﬂ!ﬂﬂﬁm i |

| ";f _fpmﬁ




116. 39 v qf srfuT & &9 !

= & fves foo sfafem
mmméﬁ?ll-m;

lM'nﬁH;%ﬂfﬂi\ﬁﬂ S A TR

m]:‘;m; # as
Eacihiiyd

(B) fire tear gas siie
violent mobs.

117, 39 U e i
FogATEl 8 JEaa
T A & {0, ST ¢

(A) ﬂﬁﬂﬂ AT T WA ST
|

(B) oM & o fema 4 forw o iy
=i & $1 e H Ewg wE

= |
(C)+#m ¥ 8 waw 3 Fwm & s
wirefréredt e w1 Frveen wa wnfieg |
(D) "W wfEEn SN g mig
%wmni;mmﬂm. j

You are stationed as & police
mﬂaﬂlﬁ#ﬂﬂ“&f )

thefts from hospitals, you should .
(A) impose restrictions on i,

maternity Wirds

(B) intercept phene calls of

rlchers o
) analyse C
{ room entry md 3

Fm ®;
aififs 1 @ Faeite §oh o gl WEh
ol

w0 & fom
¥ wril 6 @ WA S e |
frrenfeat

5 = # A #;
T @ 0 & o

o
!M‘” .

|
|
o

S s o
{18, 37 U st T . o1 & 09 TH

yﬁmmﬁﬁﬂﬁﬂ“m'm:
(A) T & o 9 5 R

7 g 1 AT AT S |

(B) e Fgen o Sfe F

You are an Iuvestigating Officer; a riot

accused political |cader requests charges
be dropped offering & promotion. You
should

(A) pretend to give in 10 the threats aftcr




122. @ qfem sl & ® #, sl
s waeE & faer
qETT 1 RN e g o
HFEITEAE | :
(A) frces mad @ de % frg fred
TR Y w IR |

(C) organize community discussions to
understand implementation ga

(D) implement diversity quotas m fi
force 1o showcase inclusiveness.

lns ﬁ

ia‘:inmﬂ:

(A) 7@ @ faa

.
A feft afeen 61 a1 5@

FA % forg

srfirrd) 3 w0 H, W a0 e
e gﬁmmmﬂz%: )
(A}pﬂﬁ[ﬁﬁﬂmmm |
®) apquferat @ TeheA %1 IHE |
(C) 8 et o T T A |
(D) ¥ & A Fl T |
Aﬁ %‘Pﬂm% the primary reason
Imwnon z

Which of the following is the correct
rank insignia for a Sub-Inspector in the
Indian Police Service ?

(A) One star (B) Two stars

(C) Three stars (D) Four stars

126. T wfterlt & w9 ¥, 3 waiw

T
AR o # | : 5
femaa FagFEA S 2
(A)«TETRE T = ST Rt e e |
B) W smavaw & @ fafeen s
e )




119. 39 T TR W& & O U Qv & (120, w0 frewie we 61 ot w@ @99, S

qfem warlt Pflers & | 3ty ara H
SEE §A WA 3N o] w5 O %
fom #3t Twm W @ § | werifs, 5w
§ wyAiaia W Rar s @ wwt s
AT VAR W Y9GS HET 3% Bt
WA H EA R | I e # R gqw
% e 3 e ) |
(A) T w1 Y e aifte sk

I ot v § see w0 9

Frrifers sores % =9 o semrE Far_;a:

T U e HrETeer w fererer & | Fmoent

(Ap 3ferat & o A s Seo a8
T T §U 38 HPTA H eeA T )

B) U s F 4 S Het T =MfEe
aife feremrz @ = st wfa s 21 )

(C) -2 zearl &1 39am 0 T2fm

o] |

(D) 5o% wied % forg wmet fom #7 aih

il :

M - 1 I H AT TR |
: - When d explosion site
(B) TRIT 1 T 7Tt SepTae 3w . e r;";g'g‘l}fphmpe potentially
3 wﬁa‘ﬁ R Weg & AEH u#y?uﬁil as ] detonator. You should -
i R : (A) 1 ir:i_ pa o ensuring no
. Iprnts disturbed.
© E;a;m ﬁm (B) place i inside thick cloth bag
™ & forg 3 _ unng no further blast damage.
T 1 394G |4 0 gé] original  exp osion
D)3 “ﬁ*’ X s i . ; VIEt!;oarc: handling, using anti—
TAEE JEyq ( ilcpanslikc SIM card
‘ﬁ_ﬁ'}a:nirrfirq d ry for separate evidence.
You are a senior insAggfor ‘n-charge of a (121, wnfde sr7fin ifam
police station in a metropolitan city. You T AR 5 g wqg qmﬁ o 2
hlv 7 1 hare : z : = 3
€ been working hard to maintain Jaw 6 s IGO0 F S
and order and prevent crimesSin your 1 3y :
area. _ However, due o some (A) T@ve % o afamem iqa Eal
administratiy, reasons,  you . are Wﬂﬁﬁam!ﬁq i
10 a traffic police unit where (B)-7® I F@ ® % ofer 3gar
You have 10 manage the traffic flow and mﬁlﬂ,mﬁm%mw |
enforce the ry) Rk (C) Sty %
es. You feel that this is a ¥® R e Eal
“aste of your skills and experience, You m“ﬁh Q|
(A) protes; against the (ransfer and Miﬂ\slll I, T S | .
o be reinstated in your against hm a high-risk Operation
® Previous role, learn Crwnined

‘&"Wlemfummm
“dapt 10 the new role and leam the
Skills and challenges of traffic

ment,

o

o, b
i LT

-




#2: 1 o wewa & % =iz 78R W wAw .
3 TR TS & R gt T

~ AtzBishams '

- Bdwams




3 <38
m.vﬁu‘efmuftirmhdmmftmm ,,,‘@mtﬁw*m“ L .I
b 1w 3 R W 6 W W p— R R R R

famt 7 & i fasert el 7% ?
Anm:ui:uzlmk?imszddwk% uqmmmnatfhﬂam
wwmm”'&m}fm shows e o o g & | AT 3 3 % famia

Oo'chxkh&nevuﬁgmum_? e . 1

(A} 120° (B) 125°(C) 130 pI35° | Heleh B T

135, Paeferien srite § 2fiwg -
g Pl 1 =

o

& dimensions are
pposite faces of
coloured yellow
aother dimensions
ed. The opposite
% 3 are coloured
boid is eut into small




':l_ (A) 88
il 1C) 99

127, grAieE (7) % 7 G 9 faee st

greta-faw W . e fwm o
(A) vaft (B) W
{L"}lﬁ (o ﬂ'h

Find suitable alternative in place of

question mark (7)

Bowny ; Plants : - Entomology : (?)
{A) Birds (B) Plants
(C) Insects (D) Snakes

8. Fefefen o & gg v RAME
e % sigw

(B)«Canal
(D) Pond!

129, z;q‘mﬂqg GAREC T

Choose the correct alternative from given
ones that will complete the series -

158,35, 24,63, 48, (7)
(B) 92
(D) 102

PR Bftn gz w6, "ZEBRA® )
| #“TORCH" %) @ foran smm 7
"Ny h.mmw,“znanrh

| Codeg "WBYAJ".  How will
- " be written in that sume code ?
WIGRTY  (B) MuRSX
) LGisx (D) MHITY

I

131, %Al & o v fean & s & fed seran
R, 1%t & s ard s een @ it 2 et
werat 8 | am fw & sroeft ard o qEen 2
I s fht v B | 7% 3 e firg

# fpa faam i & -
(A) aftor.qd (B)» I -qfrsay
(C) ufesm (D) 3™

Kabir moves 8 km from East to West
direction, then he turns to his right and
moves 2 km. Again he tumns to his right
and moves § km. In which direction is he
from his™ 1arting point ?

uthalBast (B) North-West A
(D) North -4

mzﬁglm,rﬁﬁ‘l‘m??rg\

- |

R E oS
12 1 vften, wify & fem v

YWR:vi's sister-in-law. Ram is
Ravi’s .brother, Ram's wife is Sheela
Deepa is Ravi's sister. Deepa's mother is

e
g =
-5
B
4
Z
3‘“
<

(25 5

A
!

v

AT XA Ly mm?
e 50 .PU" 'ﬁc"'iw




14, e g ) R s A B | 147, frfertan A @ # @ faweg = foom

B ) v e & | v} e w7 AN —
Choose the alternative which closely L
resembles the mirror image of the given _ 4.

ot the Jpllowing option would be
-4 of the ﬁ')llowmg words 7
2. Fever
4, Diagnose

(B) 2,3,5,4,1
(D) 2,1.4,3,5
FRAfEy
ire which is different from
CSSIC P

I}
o




